










































Binomial Distribution Poisson Distribution

X Bcn p X Po k

Ecx np Efx X
VarCx npq Var X X

or npcl p

Exercise 2E

Q1 Ex 143 Eof 347
a E x 143 1.43100

F x 347
Too 3 47

Var x ECI Ect

3.47 I 432 1.4251

b Poisson could be suitable since E x I VarCx

c X Po 1.43

p 3 e x 1 433 0.1166
3

Poisson - Expectation and Variance



Exercise ZF

5 XuB n.rs ECx4.8VarCxl2.88
up 4.8

npfl p i 2.88

4 8 l p 2 88

I p 2 88 0.6
4 8

p O 4

0.4N 4.8
n 4 8 n 12

O 4

7 X B 10,0 65

p x 5 10cg x 0 655 0 355

i 0.1536

P x is I PCxE
I 0.0949

ii 0.9051



b i rip 78

0.65ns 78

h 78

h 120

ii Var npg 120 0 65 0 35

27 3

a X B 5 p p x 17 0.83193

p X o 0.16807

l p
5

0.16807

I p to 16807 O 7

p o 3

Ect np 5 0 3 1.5

Var X npq 5 0.3 0.7 1.05



Exercise 2 G

5 X B 100 0.83 E x 100 0 03
3

Approx with Y Poly Varcx 3 0 97
2 91

p 4 4 p 7 E3 0.6472

P 4 2 0.2240

n p

Da X B 1200 O 005

y
E x 1200 0.005 6

VarCx 6 0.995 5.97

c Approx with 4 Po G

P 414 i 0.2851

Exercise 2 Even numbers


